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1- In the right angled triangle, the square of the length of the
hypotenuse equals
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The number of seconds in one minute equals 'i
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If a driver of a car wants to o "
ascend an plane inclined to the Jear paaie dgma bl (3l 3 ) 1)
horizontal by an angle of (PN Q\é °¢o "

measure 45° ,then the static aJLHS\ Clae G Sl

friction coefficient between the oe Ju Y sy sl
wheels of the care and the
inclined plane must be not less




The opposite figures represent
two blocks with the same mass
and volume placed on the same
horizontal rough plane in two
different positions. a force F
acted on them to make them
about to move ,then
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In the opposite figure :

The point of action of the
resultant belongs to .....

5 newton 5 newton
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In the opposite figure :

Find the magnitude , the direction BTN R N g

?qultgrr]w?c point of act of the lanall 505 Adadi g olail g laia 2ol
8 newton
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5 hewton 1 newton




Thg opposite figure represents a (O Fe alatie el Jiay Jilaal) JRA)
uniform rod in an equilibrium . . . . T
position, then the directions of Ao uadall Jed 25 LS e Slalad) b
the components of the reaction 0SS @
of the hang at
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The following figure represents

two forces :
=100 —-120 +75

=-200 +250 +100
which act at A .

Find the sum of the moments of
the forces about O
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-| The maximum moment for the

force F about the point A is at

Lenie ¢hany P adadil il U s4all oo S




- | AB is a non-uniform rod with
weight (W) Newton and
length 150 cm rests
horizontally on two supports
C and D such that AC = 20
cm,BD=30cm.

If a weight 20 newton is
hanged at B ,the rod will be
about to rotate about D and

If a weight 70 newton is
hanged at A ,the rod will be
about to rotate about C

Find the weight of the rod and
its point of action.
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A light rod with length L rests . e A L .
horizontally on one support as in iy G S J dsh il

the figure .1f the mass Is in A< 138 gL LS -
equilibrium with each of the two s e Jeall My go 8

masses m; & m, as in the figure & 4 &) o A i @ Ak
.then the value of m in term of m; 1@ @ O e G5
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_| ABCD is a quadrilateral in which
AB=AD =13 cm, BC = 6cm,
CD=8cmandm(/ C)=290.
forces of magnitudes 26 , 12 , 16
and 26 N act in the directions

: : and respectively
Prove that the set is equivalent to
a couple ,then find the magnitude

of its moment.
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In the following figure : ) S g

If L is the angle of friction ASiaY) 45l 5 (& 0 il 1)
between the ground and the rod (O adlly G )Y o
thentan .tanL= =db @b




In the following figure : g | I (e |

If the system of forces is 21500 oS Jiaall (5 il alas S 13)

equivalent to a couple, then s = U
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_| AB is a uniform rod with weight 4
kg. wt stand with its end A on a
smooth vertical plane and with its
end B on a smooth horizontally
plane .it is kept in equilibrium by a
string one of its ends is attached to
a point on the line of intersection of
the two planes vertically under A
and with its other end at the point

C on the rod such that BC =- AB
If the rod forms in equilibrium an
angle of measure 45 ° with the

horizontal .Prove that the string
forms with the horizontal an angle

of tangent - ,then find the value of

the tension in the string and the
reaction of the two planes.
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_| ABCD is a rectangle in which AB

=4 cm, BC = 3cm. forces of

magnitudes 40 , 90, 70, 50 and

50 N act in the directions ,
: and respectively

Prove that the group is equivalent

to a couple ,then find the magnitude

of its moment.
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If the two forces : Ol sall il 13
=5 +a +3 , ¢ LY t~ot R0
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=b -9 +c Cor +rd —~~

+b+c= ;
Form a couple ,thena+b +c CovTa e b i)l gl

)-




block of mass of 1 kg is in equilibrium on

a horizontal rough plane .A force of
magnitude 12 Newton inclined to the
horizontal by an angle of measure 30°
acts on it as in the figure .If the body is
about to move ,Calculate the static friction

coefficient between the body and plane.
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The following figure represents a
wheel of negligible mass with
radius .the wheel canspinina
vertical plane about a smooth
horizontal column, three masses of
magnitudes and are
fastened on the wheel such that
the wheel is in equilibrium as in the
figure, then the value of interms

of is... 'A |
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-| The following figure represents a
circular disk with center M . two ¢ 038 e gl pa i (i Jilal) JS)
circular holes whose centers are M; (o€ 0 Laal 38 e gl il Gl

and M, and their radii equal 3 cm e Y canl Legy pha Aai Y gl

and 2 cm respectively, then the center o saall o ) J8 S je g il
of gravity for the remaining part of




A fine lamina of a uniform density and

-| thickness in the form of a rectangle ABCD
in which AB =6 cm, BC =8 cm and its
weight is 4800 gm.wt . A weight of
magnitude 1200 gm.wt is fixed at the vertex
B ,Determine the center of gravity of the
group ,If the group is hanged freely from the
vertex C ,find in the equilibrium position the

tangent of the inclination angle of  to the
vertical.
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The previous figure shows three
masses ,4 andb

Then the center of gravity for the
group lies at the point
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